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Aufgabe 20

Kreuze jene Funktion f an, für die gilt F(x )= 1
k
⋅f (x ) , wobei F eine Stammfunktion von

f ist.

f (x )= k⋅ex 
f (x )= sin(k⋅x) 
f (x )= cos(k⋅x) 
f (x )= k⋅x 
f (x )= ek⋅x 
f (x )= k 
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Lösungen:

f (x )= k⋅ex 
f (x )= sin(k⋅x) 
f (x )= cos(k⋅x) 
f (x )= k⋅x 
f (x )= ek⋅x 
f (x )= k 

Begründung der Antworten:

Aussage 1: Falsch

∫k⋅ex dx = k⋅ex ≠ 1
k
⋅f (x )

Aussage 2: Falsch

∫sin (k⋅x ) dx = k⋅cos(k⋅x ) ≠ 1
k
⋅ f (x)

Aussage 3: Falsch

∫cos(k⋅x ) dx = −k⋅sin(x ) ≠ 1
k
⋅ f (x)

Aussage 4: Falsch

∫k⋅x dx = k
2
⋅x2 ≠ 1

k
⋅f (x )

Aussage 5: Richtig

∫ek⋅x dx = 1
k
⋅ek⋅x = 1

k
⋅ f (x )
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Aussage 6: Richtig

∫k dx = k⋅x ≠ 1
k
⋅ f (x)
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